
0.9 ÷ 0.001 = 0.1 ÷ 0.001 = 0.06 ÷ 0.1 =

0.79 ÷ 0.001 = 4.72 ÷ 0.01 = 0.37 ÷ 0.01 =

27.1 ÷ 0.01 = 3.39 ÷ 0.1 = 8.13 ÷ 0.1 =

0.08 ÷ 0.01 = 55.6 ÷ 0.1 = 0.338 ÷ 0.001 =

0.4 ÷ 0.01 = 68.14 ÷ 0.1 = 0.003 ÷ 0.001 =

9.46 ÷ 0.01 = 3.5 ÷ 0.001 = 512.4 ÷ 0.1 =

6.62 ÷ 0.001 = 53.2 ÷ 0.01 = 0.17 ÷ 0.1 =

0.54 ÷ 0.01 = 13.5 ÷ 0.1 = 0.079 ÷ 0.001 =

0.03 ÷ 0.001 = 0.05 ÷ 0.1 = 1.811 ÷ 0.01 =

835.5 ÷ 0.001 = 0.15 ÷ 0.1 = 0.04 ÷ 0.001 =

6.1 ÷ 0.001 = 0.399 ÷ 0.1 = 0.939 ÷ 0.1 =

8.39 ÷ 0.01 = 627.5 ÷ 0.01 = 876.1 ÷ 0.001 =

0.001 ÷ 0.01 = 0.66 ÷ 0.01 = 0.01 ÷ 0.1 =

0.5 ÷ 0.001 = 0.07 ÷ 0.001 = 0.003 ÷ 0.001 =

17.2 ÷ 0.1 = 4.4 ÷ 0.1 = 3.86 ÷ 0.01 =
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0.9 ÷ 0.001 = 900 0.1 ÷ 0.001 = 100 0.06 ÷ 0.1 = 0.6

0.79 ÷ 0.001 = 790 4.72 ÷ 0.01 = 472 0.37 ÷ 0.01 = 37

27.1 ÷ 0.01 = 2710 3.39 ÷ 0.1 = 33.9 8.13 ÷ 0.1 = 81.3

0.08 ÷ 0.01 = 8 55.6 ÷ 0.1 = 556 0.338 ÷ 0.001 = 338

0.4 ÷ 0.01 = 40 68.14 ÷ 0.1 = 681.4 0.003 ÷ 0.001 = 3

9.46 ÷ 0.01 = 946 3.5 ÷ 0.001 = 3500 512.4 ÷ 0.1 = 5124

6.62 ÷ 0.001 = 6620 53.2 ÷ 0.01 = 5320 0.17 ÷ 0.1 = 1.7

0.54 ÷ 0.01 = 54 13.5 ÷ 0.1 = 135 0.079 ÷ 0.001 = 79

0.03 ÷ 0.001 = 30 0.05 ÷ 0.1 = 0.5 1.811 ÷ 0.01 = 181.1

835.5 ÷ 0.001 = 835500 0.15 ÷ 0.1 = 1.5 0.04 ÷ 0.001 = 40

6.1 ÷ 0.001 = 6100 0.399 ÷ 0.1 = 3.99 0.939 ÷ 0.1 = 9.39

8.39 ÷ 0.01 = 839 627.5 ÷ 0.01 = 62750 876.1 ÷ 0.001 = 876100

0.001 ÷ 0.01 = 0.1 0.66 ÷ 0.01 = 66 0.01 ÷ 0.1 = 0.1

0.5 ÷ 0.001 = 500 0.07 ÷ 0.001 = 70 0.003 ÷ 0.001 = 3

17.2 ÷ 0.1 = 172 4.4 ÷ 0.1 = 44 3.86 ÷ 0.01 = 386
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